XSWM VA
B RS £ £ 00" HANSAVFLEX

| {3 - -
o1 KIS RS BT . ST <M
BHERX 1 BHELF Low (710
&0 2 KEIRE BT NG
BRER 2 24°m4 S o P g
EMRE  ERAREEE N
ERKR  AE° X A '
R DIN 2353 L —10

ISO 8434-1 SLC
HEEE  EEREHERSMYER) - .
(3] T
'R
BRERE, BN, EXARNATN TEORENEHEESHERREENEAES,
® &

SHMR5 IHEEHDE @d2 G

(mm)

XSWMNW 04 HLVA L PN 250 6 M10x1 14,5 6 21,5 10,0 10,5 17,5 14 14
XSWMNW 06 HL VA L PN 250 8 M12x1.5 17,5 9 25,0 12,0 12,0 19,0 17 17
XSWMNWO08 HL VA L PN 250 10 M14x1.5 19,5 9 27,0 13,0 14,0 21,0 19 19
XSWMNW10HLVA L PN 250 12 M16x15 215 9 32,0 15,0 15,5 22,5 22 22
XSWMNW13HLVA L PN 250 15 M18x15 235 9 37,5 18,0 17,5 24,5 24 24
XSWMNW 16 HL VA L PN 160 18 M22x15 27,0 11 44,0 21,5 20,5 28,0 30 27
XSWMNW 20 HL VA L PN 160 22 M26x15 31,0 12 49,0 24,0 25,5 33,0 36 32
XSWMNWO3HSVA S PN 250 6 M12x1.5 17,5 9 25,0 12,0 14,0 21,0 17 17
XSWMNW 04 HSVA S PN 250 8 M14x1.5 19,5 9 27,0 13,0 15,0 22,0 19 19
XSWMNWO06HSVA S PN 250 10 M16x15 215 9 32,0 15,0 16,0 23,5 22 22
XSWMNWO08HSVA S PN 250 12 M18x15 235 9 37,0 18,0 17,0 24,5 24 24
XSWMNWI10HSVA S PN 250 14 M20x15 255 11 37,0 18,0 20,0 28,0 27 27
XSWMNW13HSVA S PN 160 16 M22x15 27,0 11 44,0 22,0 21,5 30,0 30 27
XSWMNW 16 HSVA S PN 160 20 M27 x 2 32,0 13 49,0 24,0 24,5 35,0 36 32
PN=#ZEESD PB=BRAIEED - EHWRILL=3FEFE =8 S=E - 0d2=EHNER

FREE
XSWM B #% K IRERE, AE0°,
SWM VA [E#FIBRIERE AE0°, THN

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
03.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



